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Find the general solution of the ODE: ° WXy 2y’ 4 6y = Tx2.
Solve the following system, where step(t) is the Heaviside step function,

2E+x—y=step(t—3)
j‘ and x(0) = p(0) = 0.
fy
3=-x+2y=0
a T

Determine the Fourier transform of S{) =sin(3f)exp (-5 ).

Solve the initial value problem: y"+xy'~2y = 1, y©) =1, y'©)=2.

For the inverse trigonometric function sjn™ x
(2) Expand sin™ x in a Taylor series atx =0,

(b) Estimate the value of sin™ 0.1 with the inaccuracy less than /0™
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Given X=|~i ¢ ¢ ,ﬁndtheproperchoiceofnsuchthatK'=I. :
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A function F(z) is defined as F(z)= f e”'t*'dt forall z with positive real part.

(2). Derive the relation between F(z + 1) and F(z)
(D). Show that the definition can be rewritten as Fz)=2 f e " rirlgy » M{z2)>0

(c). Find the valus of F(%).
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